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- 3egs 1,500 64 *43| 54 & 180
-3R 1,290& 404 *43| x5I4 & 1,032
-&dEs 7Y REA WA 3,000,000& 3,000
202 O4dl 1,400 1,400 0
01 = LH YI 1,400 1,400 0
O HIISHEAE 23 2 =& Yl
70,0003 x2H 10 1,400
206 M= Hl 18,181 22,025 A 3,844
01 =8l 18,181 22,025 A3,844
O &d&=sHeld 29 243l 5,001
- SABE 6003 «5.5kg*365< 1,205
- E2&8H 8,000% *0.2kg*3652 584




AN 23Yot=E

= HIIg NN (BHEBES/HIIS)
&2 HIIS2H™e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
- AEN 4,000 *1.7kg*3652 2,482
- SaH 10,000& *0.2kg 365 730
O @s4H2T AFHYNES BHE 7Y
4,000& *500kg 2,000
O SZZCldE HIISHEANE SEN 2
13,000& 500 m* 6,500
O HEAY 2223 AMAZ(4EH) 2
53,0003 *24 *30= 3,180
O HIISHEH s+ dME =7
6,000& *250m’ 1,500
308 AAIEHHSOIA 75,000 0 75,000
1M1IJIEHRES 75,000 0 75,000
O HJ2 Me(az, HE) 2E2
75,000,000& =14 75,000
401 AIEHI L 2CHEI 14,000 18,000 A 4,000
01 A& Bl 14,000 18,000 A 4,000
O HIISHEAE JtA2 ABIA
8,000,000 8,000
O ANEZS2 HEHE Xgrdstl HE =5 ¢
=H &l 2,000,000 2,000
O HIISHEANE 2+ HE 32 M
4,000,000 =104 2 4,000
AH2s g3 N 6,650 6,650 0
201 Let2d] 3,410 3,410 0
01 At 2teltl 3,410 3,410 0
O 2EUWHLSE, OIEEL S 25 HAA
MYDl=HY R S2 X 0 A 3,040
8,000& 38«10
O =El¥3Z=2s S Zatgs SAHHE MH
70,0003 =44 280
O =EldZ=2s 2 425 7& 90
- & 300& *300H 90
202 Odl 1,740 1,740 0
01 = LH 4 HI 1,740 1,740 0
O REUHLLE S 25 HAN LS
& ol 20,0003 x3H 29! 1,740
301 LA Z 1,500 1,500 0
09 EALEHIE &S 1,500 1,500 0
O =ElEZE2S S datgs FItA 2tAld|
3,000& 50 102 1,500
AsHUE =H&EH2 A& 70,000 60,000 10,000
= 7,000
= 7,000
s 56,000




2N BIALC
= HIIg NN (BHEBES/HIIS)
&2 HIIS2H™e (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
301 gt L= 70,000 60,000 10,000
= 7,000
< 7,000
s 56,000
12 JIEBHE4 S 70,000 60,000 10,000
O 9sHbE =H Ed3 70,000,000& 70,000
= 7,000
= 7,000
s 56,000
Faxd szl 140,040 136,243 3,797
201 L2l 140,040 136,243 3,797
02 =224l 140,040 135,843 4,197
O Baxg s E88 11,805
-dEs XN 1,250, 0002 »2CH 2,500
- EA4ax 750,000& =124 9,000
- =4 305,000& = 1CH 305
O BAXE SINLRES
60, 000& x12CH 23] 1,440
O EAXE NUHSIHAl 75,000 1304 975
O HAXE MUE *2(HIIE S5, &gd&
H 3t) 1,900,000& %112 20,900
O 3AXEs 2d92d |FJFU 2 #=cldl 95,079
- S50 1,290& *5,1504 =11CH 73,079
- #=2lHl 2,000,000& =11CH 22,000
O 24| 29238 |KJU 2 =aldl 3,548
- 250 1,290& *100 * 124 1,548
- %=2ldl 2,000,000 = 1CH 2,000
O &2 xg 282d KU 2 =24l 3,251
- S50 1,290 x 140 94 *2[H 3,251
O FAXE S dAtHI 45,0003 1401 23] 1,260
O HAXE NHT2HAIAAE(GPS) S22
u]l 16,5002 *9CH 1200 & 1,782
Yoty 7Y 270,000 181,000 89,000
405 RHoHE S HI 270,000 181,000 89,000
01 et EFHSHI 270,000 181,000 89,000
O = HAXE P (5E) 95,000,000 «1CH 95,000
O =47 7Y 175,000, 0002 = 1CH 175,000
SSstE A 2el 320 300 20
202 oddl 320 300 20
01 = LH o4 1l 320 300 20
O 2534 d3d 2 JRF8 oyl
20,0002 »2H +x8 320




AN 23Yot=E

= HIIg NN (BHEBES/HIIS)
&2 HIIS2H™e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HOIZ2 28 2438 29,600 26,100 3,500
201 £B-2d| 3,800 3,800 0
01 At 22l 3,800 3,800 0
O MEES el 22 4,000& 2004 800
O MEEs82 2200 (500kg) 7+ <
3,000& =1,000H4 3,000
301 et d = 19,800 19,800 0
12 JEE4d =3 19,800 19,800 0
O 8Z0Istd & &8 243 Zdd=s =
300,000& *33H 23| 19,800
405 XHoHF S HI 6,000 2,500 3,500
01 AL EZFH S 6,000 2,500 3,500
O MEEE Zl=HU (&) 300,000 *204 6,000
sSA2 HIIE ANd 25 432,780 557,660 A 124,880
201 et 1,632 0 1,632
01 At 22l 1,632 0 1,632
O 8425 HIls SH JIJ1(RFID) R X =
2l 17,000 =8CH «12& 1,632
202 044l 1,920 1,600 320
01 = LH o4 1l 1,920 1,600 320
O SASMY I 2Es 238 2FE o]
20,0003 x8L 128 1,920
307 glz2+ol & 429,228 456,060 A 26,832
05 RIZt2E = 429,228 456,060 A 26,832
O SA=%F HII= S2AS HMeldl
120,000 5.5 246 Y 162,360
O SA=F HII= g2AE =T 28]
22,239,000& x12& 266,868
IsHII=E2 S=sdotY &5 KNIAMY 11,000 85,000 AT4,000
= 7,500
= 3,500
401 Al HIZ 201 I 11,000 85,000 AT4,000
= 7,500
S 3,500
01 A& HI 11,000 85,000 AT4,000
O sl =&Y &35 NIAAME
5,500,000 *20H 2 11,000
= 7,500
< 3,500
SZ0Istd =X 22 7,430 6,590 840
S30Istd “XARY 29 7,430 6,590 840
201 £B-2dH| 2,790 2,790 0




SN BPAGEED
= HIIg NN (BHEBES/HIIS)
Sl BADSE CX B CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 2,790 2,790 0
O ALXEDI HL, S018 S e 7
150,000& = 12& 1,800
O 8303y S XYHUII=HER SAL ol
& & 2=l 30,000& *33H 990
202 Odl 3,600 2,760 840
01 = LH 4 1l 3,600 2,760 840
O #H0Ise =22 L HHEY S 42E
& ol 20,0003 x2H 20 800
O &30IsA JENA ==& 5 REY S
(R 70,0003 x2H 20 2,800
301 et d = 1,040 1,040 0
09 SALAHIEA S 1,040 1,040 0
O &ADITA S MHUI +=HELR BAK M
ol & =23 HAH= 40,0003 »26H 1,040
AT AE 2 Al (BHES/AGtEE - =E) 7,504,730 7,007,909 496,821
s 4,117,000
< 452,700
i 2,935,030
SHE M3 He 5,030,000 4,939,000 91,000
s 3,521,000
< 452,700
[ia 1,056,300
B0 sOHE M8+ HLAY 2,047,000 2,953,000 906,000
s 1,433,000
= 184,200
s 429,800
401 AIEHI L 2] 2,047,000 2,953,000 A906,000
s 1,433,000
< 184,200
s 429,800
01 A& Bl 1,739,630 2,642,370 A902,740
O 80t sHE dES+ WL MY
1,739,630,000& 1,739,630
s 1,217,841
< 156,537
i 365,252
02 Zeldl 300,000 300,000 0
O 20k sHE 2+ LAY Zaltl
300,000,000 300,000
s 210,000
< 27,000
s 63,000
03 Al 2 THHI 7,370 10,630 A 3,260
O 20 sOE HE2+ HEAY 20U
2,047,000,000& *0.36% 7,370
s 5,159




SN BALEHEED
A MATAE U AL (BISE/MGEE - £7)
Sl S0iE MESL N CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 663
s 1,548
s sHE M2+ HEAMG 2,983,000 500,000 2,483,000
s 2,088,000
< 268,500
s 626,500
401 Al HI K 201 I 2,983,000 500,000 2,483,000
s 2,088,000
< 268,500
s 626,500
01 A& 8l 2,672,261 496,400 2,175,861
O Uls sHE dES+ WL MY
2,672,261,000& 2,672,261
s 1,870,483
< 240,534
s 561,244
02 Zeldl 300,000 0 300,000
O Uis sOE M3+ HEAY Zeltl
300,000, 000& 300,000
s 210,000
= 27,000
e 63,000
03 AIE S THHI 10,739 3,600 7,139
O E S0&E 4284 HLAY 20|
2,983,000,000& *0.36% 10,739
s 7,517
< 966
e 2,256
Ao =3 2 o 1,439,612 957,499 482,113
Nga=t S22 28 HEAS 50,000 50,000 0
401 Al HI K 201 I 50,000 50,000 0
01 A& HI 50,000 50,000 0
O Ngaxs 218 HEAMd 20,000,000& 20,000
O 2Z20E z3=2 30,000,000& =14 30,000
NgaxE AlE ESAY 869,612 647,499 222,113
401 AIEHI L 2 CHEI 243,000 0 243,000
01 A& Bl 243,000 0 243,000
O &2 83 ~4F UL S22 SSAY
50,000, 000& *1.0Km 50,000
O s e ME NLadE SSAMY
0,000, 000& *1.7Km 153,000
O o2 22X ARE HSE EXSAM
40,000,000 104 & 40,000
405 TtabF S| 626,612 647,499 220,887
01 AL EFH S 626,612 647,499 220,887




SN BALEHEED
A MATAE U AL (BISE/MGEE - £7)
ol XBAST BT U M (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
O sy 01 (2013~2022) 626,612
- sy ey &2 522,176,000& 522,176
- =Y oyl Ol Rk 104,436,000 104,436
XA AlA Ot 2| 520,000 260,000 260,000
401 AlEHIZL 2 0HY| 520,000 260,000 260,000
01 Al&H| 520,000 260,000 260,000
O BEBZ +SHY JI=2HE 8y 89
500,000,000 500,000
O 448 B57A(HSYS) SAFEAY
20,000,000 20,000
D&+ X € 22| 1,035,118 1,111,410 NT6,292
Fag 596,000
= 439,118
DIE2MdE S 83 FASAAY 21,700 41,540 A 19,840
401 AlEHIZ 20 Y| 21,700 41,540 A 19,840
01 Al&H| 21,700 41,540 A 19,840
O s 243 3429
310,000 x35JH A x23| 21,700
OISasE CSAE B 72,000 50,000 22,000
401 Al HI L 2 0HHI 72,000 50,000 22,000
01 A& H| 72,000 50,000 22,000
O &= US4 A& &Yl
5,000,000 *4 0 2 20,000
O AFR £=TAAE ALESEFHH (9AELD E)
4,000,000 1304 & 52,000
OlsataE =224 A 24,418 87,870 ANB3,452
201 et 9| 21,418 32,870 A 11,452
01 AR 22l ] 21,418 32,870 AN 11,452
O St 3 2 TA =2 21,418
- HI|ZAHBBIME=) 319,200 #3500 A +13] 11,172
- AJIZ A4 E=2) 67, 100& 3504 A %33 7,046
- = A2 A 100, 000 #2000 A 2,000
- M A 30,000& *10H 2~ *43] 1,200
207 & S OH 4| 3,000 55,000 A 52,000
03 A& A 2H| 3,000 3,000 0
O s ASAE 22Hl 4,000 x750kg 3,000
AR =S AE WHE 852,000 852,000 0
g 596,000
= 256,000
401 AlEHIZL 2 0HY| 852,000 852,000 0
Fag 596,000
= 256,000




SN BPASEED
A MATAE U AL (BISE/MGEE - £7)
¢ OtSaxE R 2 22 CEERED)
o 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 846,632 846,632 0
O &=2% FUAR 27382 =S A& HEAE
253,000, 000& 253,000
s 177,000
e 76,000
O gnd 3K A7 =SAE HEAE
253,000, 000& 253,000
s 177,000
fia 76,000
O gnd 85X7 A782 =ZAE HEAE
340,632,000 340,632
s 238,242
e 102,390
03 Al 2 THHI 5,368 5,368 0
O 48 =T AIE HEAY AIEdR20U
852,000,000& *0.63% 5,368
as 3,758
i 1,610
OrS&==% HX 65,000 80,000 A 15,000
401 A& HIZ 201 Y] 65,000 80,000 A 15,000
01 A& HI 65,000 80,000 A 15,000
Olts& =% Xlot= H3UI
2,500,000 1004 & 25,000
Oli2&da=% 2943 EHUI
3,000,000 *5H 2 15,000
Os28 WS YA L AL2 2
2,500,000 *100H & 25,000
ol A2 (BFES/MGlxE - =F) 6,980,371 8,276,081 A 1,295,710
= 3,800,000
< 98,828
[ia 3,081,543
of=2tJ1 &l 3,423,215 3,575,000 A 151,785
= 2,017,000
s 1,406,215
S8 ZZot=HMcl Y of=2H HUIAMS 2,708,929 893,000 1,815,929
= 1,517,000
[ia 1,191,929
401 AIEHI L 20 2,708,929 893,000 1,815,929
= 1,517,000
s 1,191,929
01 A& Bl 2,499,176 887,374 1,611,802
OgE8 B3ot=xclS ot=22 FHAMZ
2,499,176,000& * 14 2,499,176
= 1,399,538
s 1,099,638
02 Zteldl 200,000 0 200,000
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SN BPAGEED
Y ol Z22(BBES/MOEE - 2F)
& St=2t FHl (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Og® s3cot=xHcl7d ot=22 FHIAY 2
R= i 200,000,000& * 14 200,000
= 112,000
s 88,000
03 Al S THHI 9,753 5,626 4,127
Og® Z3ct=xHcl7d ot=2t2 FHIAMY Al
=Rl 2,708,929,000& =* 0.36% 9,753
= 5,462
fia 4,291
ol 2 ot=201 ZHIALY (3XH) 714,286 0 714,286
= 500,000
s 214,286
401 A& HIZ 201 I 714,286 0 714,286
= 500,000
s 214,286
01 A& Bl 709,785 0 709,785
OlE ot==22 HUlA(3X})
709,785,000& * 14 709,785
= 496,850
i 212,935
03 AlE 2 THHI 4,501 0 4,501
OoflE dt=2Z HUIALY (3X) A& 2 HYI
714,286,000& * 0.63% 4,501
= 3,150
s 1,351
OrSot=% &l 2,805,156 2,675,081 130,075
= 1,256,000
< 53,828
fia 1,495,328
OtSct== |A2al 460,872 815,081 A 354,209
201 €24l 6,000 5,040 960
01 At 22l 3,000 2,440 560
OARR ST A 27 S84+
500,000& 64 3,000
02 =224l 3,000 2,600 400
Ost= &ot=Z&3l A3lHl 3,000,000 x14) 3,000
202 oddl 2,100 2,100 0
01 = LH o4 1l 2,100 2,100 0
Odt+==g 2 229, s, MIILL & 204
70,0003 x3H 102! 2,100
206 M= Hl 15,000 15,000 0
01 =4l 15,000 15,000 0
Odt=% 213 BE=& XM(otA 2, dol=, &
g) 7l 15,000, 000& 15,000
401 Al HI & 28I 437,772 792,941 A 355,169




SN BIAGEED
U 4T BR(BTES/HHAE - 47)
o2l O0ISol=% I (cho &)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 A& HI 435,000 787,013 A 352,013
O33dtx=& 212848l 2,500,000 204 & 50,000
ObtE2dt=& 218224l 2,500,000 204 & 50,000
Odt=2E E& A I 5,000,000 x61 S & 30,000
OSHATHAI =20 HHIZA
5,000,000 x9S 45,000
OFSLELSLEAE2Z =Hd R AMEE R
Xl 2el 2,000,000& x53| 10,000
O XXz ¥ s 249 ot+=E FUAY
10,000,000& *4H S & 40,000
O=28=+= RY OtSot=HelAlE 22 XA &
£ 4l 10,000,000 *2JH 2~ 20,000
OS8c? OtSot=HXMalAlE 2=l
5,000,000 * 1004 2 50,000
Oot=TdH JI2HE(RE) HE 9
100,000, 000& * 14! 100,000
O MEBHATA =22 HHISAM
250,000 *40m 10,000
O s 342 24012 t=% ZHISA
300,000 x100m 30,000
03 A& =2 THHI 2,772 5,928 A3,156
Obtsot=% SX2el A&yl
385,000,000& *0.72% 2,772
OI2X7 sHE OtSot=E FHIAMY 250,000 272,000 A 22,000
401 Al B2 2B 250,000 272,000 A 22,000
01 A& HI 248,200 270,042 A 21,842
OO0I2X 7 s0H=E OISot=E ZHIAY
248,200,000 * 14 248,200
03 AIE 2 0H I 1,800 1,958 A 158
O0I2X 7 sHE OtS2ot=% HUIAMY AR
CHyl 250,000,000& * 0.72% 1,800
24X sHE OISot== ZHIAMY 300,000 686,000 A 386,000
401 Al I 28I 300,000 686,000 A 386,000
01 A& HI 197,840 681,679 A 483,839
OS4XF? sHE OI2ot=% HUlAY
197,840,000& * 14 197,840
02 Zteltl 100,000 0 100,000
OSAX7? sHE Ot2ot=% HUlAY j*EI%
Al 100,000,000& * 14l 100,000
03 AIE 2 0HHI 2,160 4,321 AN2,161
OS4XF sHE OtSct=% FHIAMY AR
CH I 300,000,000& * 0.72% 2,160
AT sHE OISot== ZHIAMY 518,571 429,000 89,571
= 363,000
< 15,557
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2N

3
Y ol Z22(BBES/MOEE - 2F)
Chel: OtSdt=S ZHl (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 140,014
401 A& HIZ 201 I 518,571 429,000 89,571
= 363,000
< 15,557
s 140,014
01 A& HI 415,304 425,912 A 10,608
Od&EXF? s0HE OISot=E FHIAY
415,304,000& * 14 415,304
= 290,713
= 12,459
e 112,132
02 2feldl 100,000 0 100,000
Od&EXF sHE OISct=E ZHIMY 228
Al 100,000,000& * 14 100,000
= 70,000
< 3,000
e 27,000
03 A& S THHI 3,267 3,088 179
OE&EXF sHE OtSot=% ZHIAY AER
Chyl 518,571,000& * 0.63% 3,267
= 2,287
< 98
[ 882
ST s0HE OtS6t== FHIAMS 418,571 0 418,571
= 293,000
< 12,557
e 113,014
401 Al HIZ 2018 418,571 0 418,571
= 293,000
< 12,557
s 113,014
01 A& HI 315,557 0 315,557
O=&XT? sHE OISot=E FHIAY
315,557,000 * 14! 315,557
= 220,890
= 9,467
i 85,200
02 2feldl 100,000 0 100,000
O=&X+ sHE OtSot=% FUIAY Zels
Al 100,000,000& * 14! 100,000
= 70,000
< 3,000
[ia 27,000
03 Al S HHI 3,014 0 3,014
O=&X+ sHE OtSot=% ZHIAY AER
CHHl 418,571,000& * 0.72% 3,014
= 2,110
< 90
s 814

_23_




SN BALEHEED
B slac Re(BBBE/MBET - £F)
o2l O0ISol=% I (9 ® =)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
SHANP? =sHE 0ISolx=% EHIAY 428,571 0 428,571
= 300,000
& 12,857
= 115,714
401 Al HIZ 201 Y| 428,571 0 428,571
= 300,000
= 12,857
= 115,714
01 Al&H| 425,485 0 425,485
O sOH= 0SS0t % FHIAY
425,485,000 * 14! 425,485
=2 297,840
= 12,764
= 114,881
03 AlE 201 Y| 3,086 0 3,086
=AU P sOH= 020t % FHIAMY Al
CH HI 428,571,000 * 0.72% 3,086
= 2,160
& 93
= 833
ZAMIP? =sHE OIS0l EHIAFY 428,571 0 428,571
= 300,000
= 12,857
= 115,714
401 AIEHIZL 2 0HY| 428,571 0 428,571
= 300,000
== 12,857
= 115,714
01 Al&Hl 425,485 0 425,485
OZ2MAP sOH= 0ISotE% FHIAY
425,485,000 = 14! 425,485
=2 297,840
= 12,764
= 114,881
03 AlE 201 | 3,086 0 3,086
OZMXT? sOHE 0ISotET ZFHIAMY AL
CH HI 428,571,000 = 0.72% 3,086
= 2,160
& 93
= 833
ol=Xeld &5 752,000 2,026,000 AN 1,274,000
= 527,000
&< 45,000
= 180,000
HE 230X elAld SEAY 752,000 2,026,000 N 1,274,000
= 527,000
& 45,000
= 180,000
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EA: BHAMGEZD
H: Sl HZ(BEBES/AGIEE - =)
el SaH2T HE CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
401 AlEHIZL 2 0HY| 752,000 2,026,000 N 1,274,000
2 527,000
& 45,000
= 180,000
01 Al&Hl 647,262 1,988,707 N 1,341,445
Ol ZZ20t2=HelAld S&AMY
647,262,000 = 14 647,262
= 453,683
< 38,733
= 154,846
02 22ldl 100,000 30,000 70,000
Ol Z2Z2otE=HHelAlE SEAY 22t
100,000,000 * 14! 100,000
= 70,000
< 5,984
= 24,016
03 AlE 201 Y| 4,738 7,293 AN 2,555
OdlE ZZ20l=XelAlE SEAME AIZ20|
752,000,000 * 0.63% 4,738
= 3,317
= 283
= 1,138
QP - HE:H(BEES/MGIEE - =F) 2,322,618 2,167,243 155,375
= 80,000
= 2,242,618
ESAIZANE 29 2,222,618 2,167,243 55,375
FEH 2%, oleXeld 2922 655,377 692,083 N 36,706
201 gBt24y| 529,257 564,063 N 34,806
01 AP 2t 2| H| 19,020 19,331 A 311
O 2JS&M d2ZA =2 450,000& 23] 900
O otx=x=2&Al =& 90,000& *43] 360
O ot )IE2h €45 828A =42
320,000 x23| x22H 1,280
O AN&ESI el E2X A
8,000 x20L x3H 480
O Aagotd2e a2 550,000& x12& 6,600
O &I|otE2e =2 700,000& x12& 8,400
O &Yz H=2 7Y 25,000 144 350
O &gsE &35 2 25,000 x 144 350
O FTH=HZ2U A== 300,000& 300
02 2=2=24%H| 510,237 544,732 N 34,495
O ot&xel EAXNAEH SA2el(erEzel) 12,500
-otEga, g=2 EASE HOE SXNES
300,000 x4 2 1,200
- X3 MsSA238 € HMAND RAES
2,200,000 x4 *3/4 6,600

_25_




2N
X ZH -
L= B

el

B aot= ot
2 - Ha2HMel(s2ES/4otxE - 2F)
BAJIEZANE 22

SN FH-SA(EN) - MBAY - BES

Off &t 24

=
i

2

500,000& =204
- g§&2xde SI(YANEB2E) 500, 000&
& 700,000& =204
- ZAN ELFY 1,800, 000&

| |sX2el(erdate

O
Qﬂ
4>
pai]
o
10
e
08!
[l
0
nx
T

500,000 *3CH
Hl(er& 22])

- ASEID/We)|, EEHEH ZI|D|
6

00,0002 x10=+4/6
350,000 x4 & *1/2

O
Qﬂ
1>
2‘4_|
[l
[P
L?!
4
X
[==
10
>
s
u

000& %1200 *1/2
)

2 27| 2l

500,000 *4LH
ANE S22 (erE )

0,
- AE R 20 2H (250t

- REHMEESSEX 300,000&
- 31 2= 500, 000& »2CH
- =RYBEZ 1,500, 000& *3CH*1/2
- BICIOH( 04 BHAL) 1,000& #7,500kg
- AEBIEEZ 100, 0003 »2CH

O ot=Hel s sl (d2te

- Skl =8I 500,000&
- ZHOY 2 S01AE 1,500,000&
i

- Skl 05 & =BT 200,000 »4CH
OIMEMAI =X &2 450,000& =204
OIMMAHI Ecd+ 78 1,500,000& 24 2

O dt=Hel Ex=3=4H sX2eldl(td el

)

10

-HNES B3, HrEE 350,000 *6CH
- 2= 300,000
- 2+33&X 500,000
O otaXel sEX4Hl X2l (A 2A])
- 22X £FD 300,0002! »2H
-s5) gxze 1,000,000&
- SXQgET 1,000,0002! »2CH

O ot=Hel €4 |2l (eEte])

- 2ol MFEX LB 500,000&
- sl MFX 2HE 550,000&

1,000,000 x2Z& *1/2

- €= B2 S0/AE FJdQ 500,000

1,000

500
1,400
1,800

1,500

1,500
7,300

4,000
700

600

2,000
11,250
300
1,000
2,250
7,500
200

6,700
500
1,500
800
900
3,000

2,900
2,100
300
500
3,600
600
1,000
2,000
3,550
500
550

1,000
500
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SN BALEHEED
B 9 - HAH(HZBE/MGEE - 4F)
el BEINEANE 23 EERE=E))
= - — -Ili::'
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-/

- €222 X 20 500,000 *2CH
O IIERL SUS L WMARAITLY RX2
cl(et&2tel)
- 52 |2 1,150,000 *7CH*1/2
- SE) wE ¢ 13,5009 %23] «20 4
- WASAMT HFOUN S22
550,000 x7CH=1/2
-%EDZ, EEX0S, LT
150,000 x20CH +1/2
O ERL €24 S ()
- 2XFBEXT WE| 600,000 *2CH
- S8 3 ¥¥ED 100,0008 x2 %
- SFEEx, AEXED
' 300,000 *8CH *1/2
- 2¥E2X AELEHD 500,000 *2CH
- SE2XM 2 ¢ Sal&EX 500,000
- €20 | 500,000 *4CH
- 24X 2410 300,000
- BIY=ED 100,000 *2CH
-onE R 50,0002 =41 m =4CH
O OUE NEL “Z7 25,0002 *2CH*1574
O Bx SUE ¢ MEX KA 22/H (erd 22
)
-NRE HO 300,0002! »2CH
-NEX 2 L XX 2F
2,000,0002 *2H
O XNStBSIEI S22/ (et 2e])
- ZAMZX 0ls-Z 300,0009! »2CH
- E+338Z 300,000 *2CH
- HHZANESED 300,0009! »2CH
- BS32 D 300,0002! »5CH
O &%, 0152 .2 HSLHY 22
- S 21HY(500mm0l 5t S 3F)

700,000 10CH*1/2

€01 AFI g2 (ot )I52 k)

100, 0003 »2CH
=2 100,000 *10CH*1/4
A

ttat = EAFD] 300,000& 4CH*1/2
dUSEH |22l 100,000 *10CH*1/4

PHAI A 700,000 *3H

SRS B EI(600mm)
3,000,000 14

DO& A 3,500,000 14
ORPAI A 500,000 =14

1,000

7,990
4,025
540

1,925

1,500
14,800
1,200
200

1,200
1,000
500
2,000
300
200
8,200
750

4,600
600

4,000
3,300
600
600
600
1,500
4,800

3,500

200
250
600
250
15,900
2,100

3,000
3,500
500
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2N BIALC
B 9 - HAH(HZBE/MGEE - 4F)
el SZIIZANE 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
- MLSS4! A 4,000,000 =14 4,000
- ZSU =LA (B ALK 2,800,000 = 1CH 2,800
O HdIR3B 346,800
- ot=Hel& HI|22(750kw)
26,000,000& x12& 312,000
- SHBIDE ®J123
100,000 9 A+ 12& 10,800
-WEBIE MJ123
80,0003 #2501 A x 128 24,000
O 8dRes 16,560
- 0TREHZIIAI2Z 30,0002 «22CH 12 7,920
- QIHY S HdAIZZ 30,0003 *24CH«128 8,640
O +=8HAA L MI|HH A2 (rE2e]) 19,487
-d)|EY |SXNES 100,000 *4001 *1/2 2,000
- LED ¥ EF L (=Z20W) 15,000& 254 375
-Jt2S ¥ XE4H |RXNE=+ 1,000,000 1,000
- P.L.CEHl ®Al2el
1,000,000 *49 £ +1/2 2,000
- PYHFABI I RABL
500,000 *3CH »23] 3,000
- CVAI0l 2 (2.50%2C) 1,450& *300m 435
- CV3H1 0l = (6.0SQ0*4C) 2,130& *300m 639
- UPS SEX(SL M) 200AH-12V
218,000& 204 4,360
- ot==Xcl Ald EII&Hl =X 2l 3,300
C BXEEI(110kw, 30kw S 55)
65,000& 204 1,300
. & S XHED1(64B/600,204B/225 S 3F)
100,000& 204 2,000
-IEEh, - Hdel A4 &I 8 X2
2l 2,378
. BXE S (7KW, 1IKW S 45)
32,5002 27K 878
. B & = XHED1(4048/400, 1038/100 S)
100,000& =154 1,500
O &&4a ZHl | Xl 200,000& *30& *1/2 3,000
O ELHAHA Rl (rd2el) 19,250
- AHE FFH 500,000& *5CH *1/2 1,250
- ZAIJt0let B FH 550,000 *8CH*1/2 2,200
- DVR & HMAH&H 800,000& =4 CH 3,200
- CCTVIHHI2t ¥ MRIESI RAES
700,000& = 12CH 8,400
- PLCEHI |22 700,000 x12& *1/2 4,200
O 2% & /g otd22 3ldl, US|
100,000& 23] 200
O 2g4dl sX2eldl 1,500,000 *2H 2~ 3,000
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o i

ANt Dt
A (BAEE/Y
AIEANE 29

QJ
1
i
4>
A

- _ _ RE]
N X8-S (3H) - MEAY - B gﬁ‘&i HR=2
O HZU K| X224l 500,000& 500
202 04d| 3,790 3,790 0
01 2L HI 3,790 3,790 0
O 8dIxZANE 23 g2 3985 HFANWH|
70,000 x2H x4 3] 560
O ot £=&2ZA AlI22 2 odl 70,0002 *33] 210
O A2 2 2= ot 22] WAL
70,000) *2H x4 3| 560
O JNEEaHXde g2F&8 ol
20,000& *53| x 1201 & 1,200
O ot ,2hl)is2h Hd2dd Jd2=X0dd|
70,000 *3H *6 3] 1,260
207 A O 4| 117,330 119,230 A 1,900
03 A& A 32H| 117,330 119,230 A 1,900
O sk, 2k AU ABRY
3,000& x6,0004 18,000
O agot=yl (249 305)
200,000& *x30= 6,000
O SZZCH SHA 8,640
- T-N Al 200,000& x243| 4,800
- T-P A& 160,000& *243| 3,840
O olXHeledERL(RIISEM 2 38)
500,000 4= 2,000
O MBI L A28 7Y (LRILY
Crega s 78) 100,000 =144 1,400
O &l E€4x2E 2 81,290
- ot JIEER Hels DX SEXM
4,400 7,425 32,670
- Ji=EeL Helg 2722 AH
220,000 x170& 37,400
- HABHAHAE AZAH 2,200& %5, 100kg 11,220
308 XHXIEHSOIA 5,000 5,000 0
11 JIEtBE =2 5,000 5,000 0
O ess & 0|8 22 5,000,000 5,000
SAEAE 229 22 45,081 46,468 N 1,387
101 2124 H] 5,496 6,515 A 1,019
04 JI2ZtHIZ22NEE S 5,496 6,515 A 1,019
O 8HI=ZANE H=2Y 5,496
- QI H| 127,391 23| x4 H x5 5,096
- B8 = 200,000 23| 400
201 et 9| 39,585 39, 153 432
01 AP 2t 2] H| 12,000 12,000 0
O &= d&h| 20,000 30 x12& 720
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2N BIALC
B 9 - HAH(HZBE/MGEE - 4F)
el SZIIZANE 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O did &€l 15,000 »4CH =123 720
O 3J18EJ| ¢l 40,0003+ 123 480
O ZetZely JtECNX 250,000& 43 1,000
O dolMEZelH HECIXN  250,000& «4& 23] 2,000
O =EAMEX 25,0003 x4 A 1204 & 1,200
O S#HI=ANE 29 222 (288 8) +
o 1,000,000 1,000
O 4TSN, +THFLAY S YY)
15,0002 *4Z * 1201 2 720
O 84 tE2LHeNE RSY22R o=
-+ 250,000& »8H 2,000
O ot=,)t=2XelAE 2E2 A Hd =t
-2 150,000& »8H 1,200
O N&2gye S2X WAl
8,000& x40 x3H 960
02 =224l 27,585 27,153 432
O Bde 284 (2e2ls) 28
1,290 365 x84 3,767
O ZEXx 2el (95x7194) 3,406
- A= 30,000& x13] 30
- NS XA 28,000& x13] 28
- ZEEER 320,000& x13] 320
- 580 1,290& x1,9004 2,451
- $EMNERES 38,500 x23| 77
- =4&Hdl 2 JIets XYl 500,000& 500
O £ X 2erxta el (2Of) 8,870
- A= 50,000 »2CH 100
- SEgEER 600,000& »2H 1,200
- S50 1,290& x5,0004 6,450
- 83MNERES 60,000& »23] 120
- =4 2 FX 2l 500,000& »2CH 1,000
O AJlEz=0H 22l (&g03I+9693) 2,282
- F50H 1,290& 8004 1,032
- SEEER 250,000& x 13| 250
- =4&d ¥ JIEt=Xbl 1,000, 000& 1,000
O ooacAL sX2eltl 100, 0002 *6CH 600
O 237 |X&cldl 100, 000& *6CH 600
O 2els &5 2983 A
25,000& x10&= 250
O &OZAI & S"M=I =A2eld] 770
- gl (AgR) 1,500& »404 =204 120
-8 2 JlE X bl 250,000& »2H 500
-H=I g 2 3,000 *2CH 254 150
O gegiAs)] X2yl 282
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SN BALEHEED
B 9 - HAH(HZBE/MGEE - 4F)
el SZIIZANE 29 (&)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
- Ags 1,500 %204 30
-3% 1,290& =404 52
-8 2 JlE X I 200,000& 200
O BZIE=ANE LAH(AEZ)
30,000& x24 *53] 300
O Zels s d=7A ¥ =44l
2,000& x2,637m’ 5,274
O &=k 2= 5,000& 123 60
O f8gs 242(30HD) 27,000& «x12& 324
O BZI=ANE W =& Z2eH(43H, 2 2H
=) 400,000 »23| 800
ZAX(HIIZ) Hel 228,340 228,300 40
201 L2l 227,640 227,600 40
02 3322l 227,640 227,600 40
O ot=, NHEE2L, 2=sdX ™yl
90,000& *2,456 & 221,040
O ot I)tE88 .25 HII=2(RIE2L )AL
i 220,000& *30& 6,600
202 O4dl 700 700 0
01 = LH 4 bl 700 700 0
O ot II52s 2=sddXl Ml WsEFA
70, OOOTJ *2H x4 560
O =dXl 423 A 22 ol 70,000 x23| 140
=S 29 22| 120,360 103,960 16,400
201 L2l 95,400 79,000 16,400
01 At 22l 12,000 4,000 8,000
O =& 225 el
200,000 103 *20H 2 4,000
O =&TMS AHFIIJ| BEZAMN =2
4,000,000 *20H 2~ 8,000
02 =224l 83,400 75,000 8,400
O =& NS FAHe SF(erdza])
1,800,000& » 128 #20H A& 43,200
O AH=s&H HHl € WA Ba(erd22]) 18,000
- COD A=l ==eal 2,000,000 *20H 2~ 4,000
- IN/TP HIED| =2l 2,000,000& *2J4 & 4,000
-PHAEZ 500,000& =44 2 2,000
- SS dl M 3,000,000 *20H 2 6,000
- &= HMEEX EH 1,000,000 *2H 2~ 2,000
O RN MAB2EX FANE (ot 2AL])
300,000 *20H 2~ 600
O RYED SAB(HM22])
200,000 *20H 2~ 400




<

n0

Kio

Hl w

A13,543

A 14,257

A 320

A 13,937

H3r
Wikd
RIS

2,160
2,160

22,800
22,800

169,691

97,846

5,470

92,376

Off &t 24

8,000
12,000
1,200
2,160
2,160

2,160
22,800
22,800
10,800
12,000

146,148

83,589

5,150
90

600
1,860
2,280

320

78,439

,104
1,064
40
1,500

1

900
600
2,700

300
400
1,000
250

4200 2

=

108 #2040 &

o
=

ArE B ==clH]
400,000& *
600,000

01 =LHOIHI

202 Oddl

-

K0
HH

ulo

=
K

ol
10D
Ok
[

Pl
<+

ol
=

R
12820 A
12820 A

=

o
2l *
2l *

o
=

20,000

450,000
500,000

|
ol
=

2

o

Iz
=

k

= 7
o
oL

[e]3
=5
|

=)

=
=

= |

=
=

207 &A1 OH & H|

03 A&l & 224l
O COD Al
O TN/TP XAl

gl

IS

-

KO

3
3+
%

]

30
0
ol
all

2

1

(=}
[und

2| %

e

90,000

01 At2 22l H

RO

RO
0
A

ok

XU
0
A

2|

128
128
[C]:!

600,000
2l *
2l *

2 k20 #2

165,000
190,000

8,000

30
0
H0
A0

2 %20 M

2| 532 m°

=
[l

=

o
[und

2,000
2,000

S ES RS

=

al

pas]
=

AbAl

(=]

- X

£l
i

oJ

gl

Ok

Ki
RO
Ki
0
US

=

21 *30H

e

300,000
300,000

2l %2 CH

o
=

~

o]

=

Ki
RO
Ki

n0
ok

1|

E

Kl

bl
US
ol

U3

KA
010

o]

[und

21 *20H

e

[ud

Ax20Hx1/2

150,000
200,000 »4CH*1/2
1,000,000& *2CH *1/2

250,000

J171

1|
o
Bd
&Il
K4

ol
ol

—_

]
<

i

250
500
2,100
1,000

|
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2l %2 CH

=

500,000

[

220 +1/2

500,000

F

50,000

H_.__n/._

s Xl 2teldl(

£
wH

O Xteld
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2N BIALC
B 9 - HAH(HZBE/MGEE - 4F)
el SZIIZANE 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
- ¥z ot WA 500,000& »2CH 1,000
- MoPEtE =Xl 2c 100,000& 100
O ot=3AHBZE S (E2e) 4,600
- ENBDN E8 Y HA
250,000 » 1204 2 3,000
- EUWDIY +EZHI el 2 F2
200,000 »50H & 1,000
- MOP ZH& R Xl 22 200,000 *3H 2 600
O H=s&H sAZel(erdae) 8,350
- HESPEX MSS dlA 4,500,000& «1CH 4,500
- =Sh==AAH LA 3,850,000 = 1CH 3,850
O +=8AA L MI|LH FA2(rE2e]) 7,265
- doEy |FXEs 500,000 =104 2 500
- 238 MJAEX |FXNE=+ 500,000 =1CH 500
- EX™X F(12V/200AH S 28)
429,000 «8H 3,432
- LEDE & DI (50W) 75,000& =104 750
- CV A0IE (2.50%2C) 1,450 & *300m 435
- 8XEEI| (KN S 45) 32,0002 «18H 576
- B SIS (64B/600 2A3F)
134,000& *8H 1,072
O HdIR3B 46,200
- ot=Hel&d AI|23(165KW)
2,200,000& x12& 26,400
-SAHEEZE MIIRsS
150,000& * 110 A+ 123 19,800
O stRes 4,560
- SHEDHY A= LEAMHA 08
50,000& 123 600
- ZAIt0le 3l MBS (B#EH-&=2)
80,000& 123 960
- ESLHAHA S8 ANES(EEH-&E)
250,000 128 3,000
O &% 23 5,000&+12& 60
207 A& H| 5,500 9,700 A 4,200
03 A& & 121HI 5,500 9,700 A4,200
O 2225 =3ANY 4,200
- T-N Al 200,000& =123l 2,400
- T-P Al 150,000& * 123 1,800
O =Hdel 45 +¢ 1,000& =1,000kg 1,000
O ZAUXelANE 43572 300& *1,000kg 300
307 glz2+ol & 54,059 49,145 4,914
05 RIZtE = 54,059 49,145 4,914
O Edt=xcl& 2cltidyl 54,059,000 54,059
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SN BBAGLCY
HE: @ - HAH(BIBE/MGEE - 43)
el BAIEANL S CERED
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
308 XHXI €A S 01 & 3,000 3,000 0
IREEEE 3,000 3,000 0
O gE+ 8y 018 223 3,000, 0002 3,000
Larstareld sizel 184,013 190,253 6,240
201 YEr2 | 89,374 101,328 A11,954
01 AbR 22t 5,150 5,150 0
O B4 +TAN 448 90,0002! * 13| 9
O Agal ¥ 2UFUFY 2A 248
60,0002 600
O ®IQEUE +42 55,0002 128 1,860
O SOUZHAAE 8| 190,008 * 122 2,280
O NESXe S2X Al
8,0002! x202 x2 320
02 232l 84,224 9., 178 A11,954
O AzRuB 3,070
-BSX Y ASS 5,000 *4321 2,160
- HANE U SYEZE 5,008 =182 910
O SEZIE s (eEBe) 2,700
- SUBI(11kw) 1,500, 000! *2CH *1/2 1,500
- SBIFEI DU 1,200,000 x20H1/2 1,200
O ¥Sx &bl |uzel(FFB2) 8,000
- HBSX RY, 25 Msu-
500,0002 *2CH 1,000
- £ZHEIID1(3.7kw) 1,200,008 4CH*1/2 2,400
- 3 EII0I8 SEI1(18.5kw)
2,000, 0002 *2CH *1/2 2,000
-ols HNBE 1,000,00021 2CH*1/2 1,000
- PN g, XE MSUS
1,500, 0002 *2CH *1/2 1,500
- BSIHOY RNBS 100,0002! 100
O Meld AS&H X 22lH (w22 1,600
- Teld BE DA 500,0002 «24 1,000
- YD 9N DA 500,0002 * 1} 500
- NOPEHY RXI 2 00,0002 100
O SH+SHBOY X2 (AT 22) 5,100
- BEANBEE ES, A 2500002 1400 £ 3,500
- EANBIE 4EHI 2el, 2
250,0002 *5CH 1,250
- NOPEHY R X B2 100,000 +7CH *1/2 350
O ELMO S SXE< 1,000,000 <23 2,000
O SHEIZ SN2l (MLAK)
50,0002 +7 3] 1,050
O H=2H SN 4,200
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2N BIALC
B 9 - HAH(HZBE/MGEE - 4F)
el SZIIZANE 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
- SIS T YEIHED
5,500,000 «1CH+1/2 2,750
- =8I A (LT-200) 2,800,000% = 1CH 2,800
- STPESE MSS dl A 4,800,000 «1CH 4,800
- 23S E 00 dA 3,850,000 = 1CH 3,850
O #=8HAA L MI|&H SA2(rE2e]) 5,884
- Moy |KXEs 100, 000& *5JH4 500
- 23 MIAEX RAE=x 300,000 «1CH 300
- S X 7L (12V/100AH) 218,000& *8H 1,744
- LED I (25W) 15,000& *50H4 750
- BNE =D (30kw S 4F) 29,000& 204 580
- B & EXHED1(64B/600, 204B/225 & 3F)
134,000& =154 2,010
O dIRB 36,000
- ot+=Held ®I122(150kw)
1,600,000& »12& 19,200
- ENBEE ®IIQ3
100,000 x 1404 A+ 12 16,800
O Uitdt=Held & SHEBZYE Sees=s 4,560
-SHEDHY A= LEAMHHA 0182
50,000& 123 600
- ZAISt0let Sld AtEE (B E-LEAH
80,000& «12& 960
- SLHAHA Sl AEZ (B E-LIA)
250,000& 122 3,000
O Lidtot=Held =523 5,000&+12& 60
202 oddl 1,880 1,880 0
01 = LH o4 1l 1,880 1,880 0
O M2 HEsdd L s 0S50l
20,0003 94 1,880
207 A RO H| 14,700 18,900 N4,200
03 A&l & 2l 14,700 18,900 A 4,200
O =222 S3AN 4,200
- T-N Al 200,000& x123] 2,400
- T-P Al 150,000& =122/ 1,800
O =Hdel 45 +¢ 1,000& =1,000kg 1,000
O BeXNelAE 4257 9,500
- 02X 2EA 4,000& *1,500kg 6,000
- PAC 500& *7,000kg 3,500
307 12+l & 54,059 49,145 4,914
05 Rzt E = 54,059 49,145 4,914
O Udtot=Held 22| ti&dl 54,059,000 54,059
308 MtXIEHSOIH 4,000 4,000 0
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2N BIALC
B 9 - HAH(HZBE/MGEE - 4F)
S SHIEANE 23 (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
MIIERE= 4,000 4,000 0
O gdx=+ A 01 RE3 4,000,000& 4,000
401 AIEHI L 20 20,000 15,000 5,000
01 A€ HI 20,000 15,000 5,000
O Ligh ot=Held XNSEF3A
20,000,000& 20,000
H2ot=Held |2l 444,436 386,063 58,373
201 Let2dE] 191,167 148,915 42,252
01 AP 2t2lHl 3,730 3,730 0
O ot =Z2AAN =2 90,000& x13l 90
O sdXl d23A =2 320,000& »23| 640
O Ay B4 L AYFUEA AN £42
600,000& 600
O &Jjetd el Had ===  200,000& 122 2,400
02 2324l 187,437 145,185 42,252
O =22 sA2el 500
- 28I (1.5kw) 2 23 500, 000& 500
O AN X2l (et 2el) 2,500
- By-Pass =& 1,000,000& 1,000
- RYESHE(1.5kw) 1,500,000& 1,500
O 2Ha B8 2 HAMAHI S 2 (etE
221) 2,900
- &2J| ==l (1.5kw) 1,000,000 *2CH 2,000
- @S HMAI "X 2 500,000& 500
- 0tola=2HtAa 38 X2l 200,000& 200
- EAMMEI X2 100,000& 100
- d3F MBI mA2a 100,000& 100
O SRYZHEX Al (td2te]) 1,200
- SYEI(11kw) 700,000& »2CH*1/2 700
- REXEX we| 500, 000& »2CH *1/2 500
O BrS=x &H Xl (erd2e]) 4,500
-HEX /7Y, RE dSYSE
500,000& *2CH 1,000
- =3 EI|J](3.7kw) 500, 000& »4CH*1/2 1,000
- =3XEIJI8 SE71(18.5kw)
1,000, 000& *2CH*1/2 1,000
- 018 sdANEZ 500, 000& »2CH*1/2 500
- Skl oY, XE FFES
500, 000& »2CH*1/2 500
- BHSEMOE RAEs 500,000& 500
O 3244l |A2el(Aze) 1,000
- 2 E I (5.5kw) 500, 000& »2CH*1/2 500
-Ex3g AsEX 300,000& 300
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SN BAMEEED
B 9 - HAH(HZBE/MGEE - 4F)
el |ZANE 29 CERED
CEB P (3H) - NRAY - B ofl &t o SSa HDE2
- 2423 I (2.2kw) 200,000 x20H =1/2 200
O [N AsHH SA 22l 2,100
- e #HZ A 500, 000& =44 2,000
- MOPEHE! R X|2te| 100,000& 100
O ©:XHelAE SRl (et 22]) 3,500
- &2k B2EZ(3.7kw)
500,000 4 =1/2 1,000
- &0 g2 1,000, 000& 1,000
- AEFTT X2 300,000 ~4CH =1/2 600
- ExAdEHEY S &K 500,000& 500
- H0l3 0l 2HN 100,000& 100
- wetg S5EJ| X221 (2.2kw)
300,000 2 =1/2 300
O &t SHEBZE XA (HE2A2]) 11,750
- EHEDY 22, ¥4
1,000,000 140 2~ %1/2 7,000
- SHEDSY THZT A2
100,000& *38CH 3,800
- MOPEHE R X|2te| 100,000 *19CH *1/2 950
O H=s£H X2l 2,000
- =< A 100, 000& *8LH 800
- XS SA 100, 000& ~4LH 400
- BtExX HFI A2 100, 000& *8H 800
O £=&H=4H =Y L WA 10,595
- PH& A 770,000 x20H «1/2 770
- D0 H & D 3,850,000 x1CH*1/2 1,925
- DO&I A 3,500,000 «1CH*1/2 1,750
- MLSS B &0 4,500,000 ~1CH=1/2 2,250
— MLSS#!I A 4,000,000 x1CH=1/2 2,000
- X3S I&< A (LT-200) 1,900, 000& *1LH 1,900
O £8HEA L MI|ILH S (HE2l) 4,063
- &)|Ed KX 100,000 * 1000 *1/2 500
- REA MIAEX RANE>
100, 000& *x2CH*1/2 100
- SALHAH AH SA2el 1,000, 000& *23] 2,000
- LED I (25W) 15,0003 x50 4 750
- CV A0l E(2.50%2C) 500& *300m 150
- 8XEEDI(30kw S 45)
15,000 x35J x1/2 263
- Bl &= XD (64B/600,204B/225 S 35)
50,0002 1200 *1/2 300
O &Je3 66,000
- St Hel® ™R 2(200kw)
3,400,000& =12& 40,800
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2N BIALC
B 9 - HAH(HZBE/MGEE - 4F)
el SZIIZANE 29 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
-SHEEE M3
150, 0003 * 1404 &+ 12 25,200
O di2dot=HMeld & SHEZY SRS 4,284
- SHEDZY H=EE LEAMHA 0EE
50,000& x12& 600
- ZAIIt0let Sl IS (EE-IE)
57,000& x12& 684
- SLHOA I AESS(HE-HL)
250,000& »12& 3,000
O &5 23 5,000 128 60
O 2g¢4H sX2eltl 1,500, 000& 1,500
O dEsRA22 2,040
-BIEX Y AHES 2,500 688 m’ 1,720
- FAMAE ¥ REXFEX 2,500& 128 m 320
O ol2330t= Jl=a 66,945,000 66,945
202 O4dl 4,290 4,290 0
01 = LH 4 1l 4,290 4,290 0
O HIILH |X2el g2F2 ol
20,0003 x5 128 1,200
O X&) HEdEA L s 0S50l
20,0003 »84 1,680
O JIHEH |X2e g2F2 ol
20,0003 x5 128 1,200
O &£dXl 822 A 220l 70,000 x33| 210
207 A O H| 22,440 26,640 AN4,200
03 Al & 2 Hl 22,440 26,640 24,200
O 222 SE3A 4,200
- T-N Al 200,000 x123] 2,400
- T-P Al 150,000& »123] 1,800
O SUXAE 4Z22Y 13,000
- D=2NESEM 4,000& *2,000kg 8,000
- PAC 500& *10,000kg 5,000
O sdil €243 72¢ 5,240
-otx=HMelE DEXN ST
5,000& +1,000kg 5,000
- ot=XMclE E4&HOIE 300& *800kg 240
307 glz2tol & 223,539 203,218 20,321
05 RIZHRI & 3 223,539 203,218 20,321
O oiZdt=XelZ 2elti&dbl  223,539,000& 223,539
308 XXM S0l A 3,000 3,000 0
11IIEtRES 3,000 3,000 0
O gdss 82 018 2= 3,000,000 3,000
BiEdota= S22 (BFI=AE 2F) 398,863 360,425 38,438
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SN BALEHEED
HE: 2 - AN (BBRB/MEAEE - £H)
S9l: BYINEANL 2 EERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
201 Le-2d| 233,248 220,780 12,468
01 At 22l 2,448 2,160 288
O D2t T +EAANE M4y 7Y
1,000 x3400 2 60 123 2,448
=323l 230,800 218,620 12,180
O HIR3 138,000
- tSot==Held I3
250,000 #3400 2 #1200 & 102,000
-SHEZE HIIRS
60,0003 *50JH A = 1201 & 36,000
O Otsot=k sHR= 28,800
- 10T SAEEI AIEZ
30,0003 «50CHx128 18,000
- QY SHAIEE 30,000 *30CH =128 10,800
O Oi2dt=HMeld JIAHLH(BEER) FAUEx(
otz el) 1,000,000 *25JH 2~ 25,000
O Oi8st+=% ®I|&dl SN2 (eraatel)
700,000 #2504 2 17,500
O Otsot== &, 2t S22
700,000& =54 & 3,500
O Otgdt=Held A L8+ ASYI
-2 500,000 *30IH 2~ 15,000
O 3&8XF HUEX 4E ¢
1,000, 000& 1,000
O &4=2x-eld 224 EF=38 Wil
2,000,000& 2,000
202 o4dl 3,000 3,000 0
01 = LH o4 1l 3,000 3,000 0
O OtEot=% SX&el dRFEY|
20,0003 x3H x50 3,000
207 A& H| 500 500 0
03 Al & 12 Hl 500 500 0
O H&E &z A= 72 500,000& 500
307 21201 A 153,115 127,145 25,970
05 RIZt2IEt = 153,115 127,145 25,970
O A2 OtSZ23ot=Z A4 2| &l
375,280 #3400 A« 1201 & 153,115
401 Al HIZ 201 8] 9,000 9,000 0
01 A& HI 9,000 9,000 0
O OISdt=Held |EH B (2d2e])
2,500,000 *20H 2 5,000
O DtSdt=HMa & MASd A5 B (ord 2
el) 2,000,000 *20H 2 4,000
SEZ IIE233HMelAE LAY 100,000 0 100,000
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SN BALEHEED
B 9 - HAH(HZBE/MGEE - 4F)
Chel: SEHZ IIEEL33HeAIE LAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 80,000
s 20,000
SEZ =23 3HelAE WA 100,000 0 100,000
= 80,000
s 20,000
401 Al HIZ 201 Y| 100,000 0 100,000
= 80,000
s 20,000
01 A& HI 100,000 0 100,000
O JlE & AAEA 100,000, 0002 14 100,000
= 80,000
s 20,000
HY2AZH (SHZ ASH D) (DIEHDIE 108,498 108,778 A 280
JlEZ3l 108,498 108,778 A 280
JlE2&l 54,618 54,618 0
201 L4 21,978 21,978 0
01 At 22l 19,320 19,320 0
O 2NM2d8 A2l 50,0003 29«12 17,400
O Vg, X 2==2 10,0008 165122 1,920
02 =224l 2,658 2,658 0
O ZN2E RER3 2,658
- gpteH 300& =5, 0000H 1,500
-sllsH 1,930& *6000H 1,158
202 044l 27,840 27,840 0
01 = LH o4 1l 27,840 27,840 0
O Zgam+s s J2ee =20yl
80,000 x29H «12& 27,840
203 YR =& 4,800 4,800 0
04 NI 4,800 4,800 0
O BA2EYR=AH 400,000& 123 4,800
g 2F 53,880 54,160 A 280
201 2et24d] 53,880 54,160 A 280
01 At 22l 53,880 54,160 2280
O Y. == 52,880
- g3 60,000 x2H » 117 14,040
- =A(EyY) 50,0003 x2H x248 24,800
- =A(5Y) 60,0003 x2H » 117 14,040
O &xa 33 2 2 MEH 250,000& 4% 1,000
HRas(sZdidot=E ) (2225 /822528 174,126 166,394 7,732
LH 2 HeH 174,126 166,394 7,732
BZEdIIZ MES 169,026 161,394 7,632
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2N

X{ XH -
S =

Sl e AN ool E )
SN HH-S(BN) - MBAY - B il HlnE2
702 12 H 169,026 161,394 7,632
01 212& 169,026 161,394 7,632
OF- 169,026,000 169,026
cHIHEELS 5,100 5,000 100
701 JIELSI HI S 5,100 5,000 100
01 JIEtSI HIA 5,100 5,000 100
O =ZN sgae zZdl 7
g3 5,100,000& 5,100
HRas(as%)( ) ,815,046 1,845,849 A 30,803
HEAHHK = ,815,046 1,845,849 A 30,803
JIEISIHE =3 ,815,046 1,845,849 A 30,803
701 JIEtSI HEH ,815,046 1,845,849 230,803
01 JIEt=I AN ,815,046 1,845,849 A 30,803
O &=
1,815,046,000& ,815,046




